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What is the value of the 

digit 4 in the number 

84,230?  

A. 4 

B. 400 

C. 4,000 

D. 40,000 

2
. 

What is this number in 

standard form? 

 
600,000 + 30,000 + 800 + 6 

 

 

3
. 

An apple orchard sells 

apples in bags of 10. The 

orchard sold a total of 2,430 

apples in one day. How 

many bags of apples did 

they sell? 

 

4
. 
 

A museum had 275,608 

visitors last year. What 

is the number rounded 

to the nearest 

thousand? 

  

5
. 

Round the number to the 

nearest hundred thousand. 

652,413 

 

 

6
. 
 

Tricia's mother let her play outside for 135 minutes. When she went outside, she played with her dog 

for 35 minutes. Then she rode her bike for 40 minutes. She spent the rest of the time catching bugs. 

How many minutes did Tricia spend catching bugs?  Explain your thinking. 

 

 

 

 

 



 Wednesday Wed. Workspace Thursday Thurs. Workspace 
1

. 
 

In 2007, Pennsylvania 

had approximately 

121,580 miles of public 

roads. What is 121,580 

rounded the nearest 

hundred? 

 There were 2,605 people 

at the basketball game. A 

reporter rounded this 

number to the nearest 

hundred for a newspaper 

article. What number did 

the reporter use?  

A. 2,600 

B. 2,610 

C. 2,700 

D. 3,000 

2
. 

Compare the value of 

the underlined digit 3 

in 6,382 to the 

underlined digit 3 in 

6,832. 

 How many times larger 

is the digit 7 in 7,369 

than the digit 7 in 

8,725? 

 

3
. 
 

920,026 - 535,722 =  253,495 + 48,617 =  

4
. 
 

What is seventy-three 

thousand ninety-two 

written in standard 

form? 

A. 7,.392 

B. 73,092 

C. 73,920 

D. 730,092 

About 27,000 people 

attended the football 

game. Which number 

could be the exact 

number of people who 

attended the game?  

A. 27,506    

      

B. 26,499 

 

C. 26,708  

       

D 27,832 

 

5
. 
 

Compare the numbers using >, <, or =. 

A.  112,632 _____  112,732 

 

B.  3,854,631 _____  3,845,631 

The city Amy lives in 

has 106,534 people. 

What is the value of the 

6 in in 106,534? 

 

A. 6 

B. 60 

C. 600 

D. 6,000 

6
. 

Clark and his brother Kent played floor hockey in their living room. Each goal was worth 2 points. 

Clark scored 6 points. Kent scored 8 points. How many goals did they score altogether?  Explain your 

thinking. 

 


